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(5. 11-15) : R 721 7% 10 9&3 A, B, C, D, E, |
F,G.H,1LIAd=

st Al ha, Beta AN !
Gamma ﬁﬁm@%ﬂ% | '
(Q. 11-15) : The given graph represents the :

number of users of three Telecom services

Alpha, Beta'and Gamma across e
C.%. E,F,G, H,LJ. ma across 10 cities A, B,

et v ()

Number of opers
oo (in thomegmds)

£
g

o e H
BAlpha S Beta B Gamma VY e0

11. & 59 wied o e Alpha 3R Gamma
= IUITTERATST St e T e 8 0

What is the average number of users of
Alpha and Gamma across all ten cities
together ?

(A)535 (B) 525.5 (€) 547.5 (D) 550

pa—TTL L L

S‘IETD % ws @Y Alpha, Beta ¥

Gamma % Sy w1 HEAT T IE
‘¢ H ush G Beta 3 Gamma %

SRt i EE yqa FE e ? Y
What is the ratio of the number of user

of Alpha, Beta and Gamma together ' |
city ‘D’ to the number of users of Be a

and Gamma together in city ‘T’ 7 '
'LA}EI -11(B) 1:21(C)5:4 (D) 4:

(3. 16-20) : Freffaa TET % B ATES
syee & 3iR A1) fim T e o I
Srfriae YT 7T 99 2023 H w16 ¥ 10 T
Wﬁ%ﬁa‘lﬁmﬁ%ﬂﬁrﬂﬂﬂﬁﬁf{ﬁﬁ%1

(Q. 16-20) : Study the following line graph
carefully and answer the questions given
below :

The following line graph shows the
percentage breakup of students studying in
school from Standard 6 to 10 in the year 2023.

15.
r-l"

12. TR ‘B’ H Th A Alpha, Beta, 3N — "

Gamma % i fr pE e, Wz : Ferenrem i ot Farenffat < weam 2200 2 |
e H H UH W Alpha, Beta 3 Note : The total number of students in the
Gamma 3 ITITTHAISA 1 $O GEA1 I \

T B T feho ST 6 @ 2 — 220
What approximate percent less are the .
total number of users of Alpha, Beta and
Gamma together in city ‘B’ com d to
the total number of users of %P , Beta
and Gamma together mn city 1 ?
(A) 26.67% AB) 21.05% _
(C) 28.92% (D) 35.‘132#{% %
. i ————— —
13, @t g wEd # et Beta AR Gamma
2 3 gyt i et g e 8 7 ~ FIE S W . -
What is the total number of users of er? = - SO
and Gamma across all ten cities together i S
) 11250 (B) 10500 Std.6  Std.7 Std.8  Std.9  Std.10
(D) 11350 : |
o o t 16, T 6 3R wan 9  freme frnfE |
14 m‘A*ﬁAIhaafﬁBeta%qmmu X
" mﬁﬁaﬁa‘ga’w, ‘B’ § Beta I wE, HEl 10 T fenf¥al 1 F
Gamma 3 T AT TR A HEAT e & T Rt sitvera it 2 2 5
=1 femaT ? The total number of students in Std:
The number of USCLs pr e Bet?‘ and Std. 9 together is ap;;:-m:4'.imat=:l?rr
together in city ‘A’ 18 what percent O .
th% number of users of Beta and Gamma what percentage more than that of the
together in ‘E’ 7 (B) 135% total number of students in S;d. (llg]?’fﬂ%
85.71% . A)66% (B) 387% (C) 187%
h (cg 116.67% (D) 120% 4 (A)66% (B) 387% (&) 1877 1 -
- & i'g"' @ 2-& 3
7 A\

i
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17. &1 8
T 0

L ot |-.5 el T T T B —————————
wgH! ) Hel @ " & 3k
AGH! N et G “x + 407 R |
afe Fan 8 3 Far1 0 3 Mt aghnd
& §‘ﬁl &1 120 B, @ Y W HE

The total number of boys in Std. 8 is “x”

(. 2]~25]:Fﬂfﬁﬂﬂ@9fﬁw s
% A1 fo o el % FECA

table carefully and

. Study th
(Q. 21-25) : Study w’“”‘#
K ForerareT (2%)

7

e ]

answer (he queslions BV

s o financing (in
cal deficit and itﬂﬂ e

L It 2

and the total number of boys in Std. 9 is f'miejrﬂﬁlﬂ_"r —y

“x + 407, If the total number of girls in i/ | ot [T ¢ i’%’iﬂn‘"ﬂ e/

Std. 8 and Std. 9 together is 120, then ! | Years | 5w/ M“""f “Other |Budget

find the value of “x". Fiscal e jabilities Deficit

(A) 210 (B) 190 (C)250 (D)270 deficit| 1" 0a0 | 1075 |
2015-16 @%ﬁﬂi s

18. a7 3R e 8 § et vl B F | 5016-17) 71350 | At
F 2016-17] 7222 41660 | 232 =
wem o w1 9 e i 10§ e | [ory-is] 77845 | L0 S0 105
ST 1 et FAT o o ot SR 7 [2018-19] 9905 —Lran e T y5755 » | 4343 gy e

arq What is the difference between the total M&W 32TI0% | —— &
number of students in Std. 7 and Std. 8 § [3020-21] 80065 29345 ® @%‘Q )

together to that of the total number of
students in Std. 9 and Std. 10 together ? i ﬁ;qa#ﬁﬁ?ﬁﬂﬂmﬁ@ﬁa&ﬁw

(A) 308 (B)302 (Cy198 (D)415 it e
i : ficit increases
19. A HET6 4, TEH 1 TreiHdl W In which year the fiscal de ‘
il il %@?&fa;m o year? Saik i
| 1 &6 | AT ] 1 %! gt & A) 2016-17 (B) 2015-
@@T’F QWEF'ﬂW*"ﬁa' WU E) 2017-18 (D) 2018-19

- If in Std. 6, the ratio of gu}rs 1;.1 g_,irIIs is |
: the total number ol girls m ¢ :
i 6 s 22, foma e 3§ TSR 3UR 1 Fitaa $e i

- o4
‘_;fi_f\f Std. 6 is 50 less than that of the total :

%) number of girls in Std. 7, then find the w7 &1 e feran ferera 8 2

o A ratio of the total number of boys in Std. -

% 200 6toStd. 7. The average of market borrowings is
= (A)5:6 (B)30:47 (C)6:17(D)17:6 i approximately what percent of the total
) fiscal deficit over the years ?

20. fz 2024 ¥, % 6 w 7 H?ﬂﬂgﬂ (A) 9.57% (B) 8.18%
il Bt H1 FE a@ 4 10% § (C) 9.12% (D) 7.98%
0 S F) kol T 61 et i B 20% Y § e
550 Rerscwlymim o die | 2% 05064 S
j=2a ez . 2024 ¥ ey . -16 ¥ 2019-20 @
2\ ::P‘ﬁ?:ﬁﬁj?ﬁm%ﬁamw%? | (00 ) formr 2 2 e
\ % If in » the total number of student , '
 taM :; t;‘;m'. 3 ?];ir.i Std. 7 is increased by i‘i}“/: Woat is the average budget deficit from
o lo ach anc the total number of students i the 2015-16 to 2019 i
\ Std. 10 is decreaged 0 nts in ~20 (in crore) ? )
is th . e hy 2{]4, then what %%g t
numbtfr glffrz:.lﬂ‘-ﬁ between (he total (A) ¥7,493%0% / crore T A
" ;

lob '+ logether n zflzgmif; "}T Std. 6 and 7 1 - _(BY T 8,337 %L/ crore
i number of studenyy in Stiddtjg,' e total C) 7912/ ¢ L,

,\31!'_‘ “w{f‘{{"gsﬁ-”i} 946 L('-} mﬂ? Ii'.!l _)2024 7 s 2 / crore T o

Y= e o — *ﬁ,,m_q_i __j_] _PZE | (D) ¥ 8,321 U/ crore ?g

@, &3 St o — - i
@ TN EC T 18%7 2. e

b, HJ5
.,u 4R IS
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In which YEar i

n wi year 1s the
lgabllrties are the A
fiseal deficit 9
(A) 2017-18

A€) 2018-19

€ percent of other
highest with respect to

(B) 2015-16
(DY 2020-21

Mmany vears the ratio of fiscal
£ “ ety
(A}cit to mﬁ%&% bcrm{\;-:f];'l% 15 more t)hgn 27
(. 26-30) :ﬁwﬁﬁtﬁa—mﬁ%maéwmﬁaﬁ
?ﬁfﬁﬂ%ﬁmm%mé:
i = IR Tt | gef 3

K T2 Afea ooy
(Marked Price) 73
Price) W %r:CE} gﬂaﬂt T T e (Cost

(Q. 26-30) : Study the following table chart

carefully and answer the questions given
below :

This following table is related to profit and
loss and some values are missing. All the

discounts are on the Marked Price and the
profit are on Cost Price.

S/ | A AR | g ()| T
Article | e | (%) / |9F9 () Discount| e
Cost | (*) |Marked| Selling
Price Price Price
9] ®) ®
& /Jeans | 2500 - | 3000 - -
W /shirt |0 3% | o\ - [
- 14% -
-2/ - e 2875
T-shirt Ik
gz/Suit [2400]| - , e —- | 2840
|12l /Saree |y n St 207 3800 |
26.

If the discount % and profit % of the

e a1

28.

29,

30.

= 2 o s e

g LT

3 | )-8 1 STHITE T T L |

The ratio of discount % and profit % of
the T-shirt is 7 : 5. Find the approximate

Cost Price of T-shirt.

(A) 22,248 (B) T 2,285
(€) T2,167 (D) 2,192
afe sitg 3 AT % wTd el 1 A

4 5%, T ETE O I B2 % T |

1f the ratio of the Cost Price of the Jeans
and Saree is 4 : 5, find out the approximate

(B) 1423%%
(D) 19.87%

afe sffw @1 3iftea e 9 F @ e @
¥ 420 a1fers R it 3 & 3ifra oew o
fosha 7w & o %1 R T 7508, W
e 1 wferra 31 =6t |

If the Marked Price of Jeans is 7 420

discount % of Saree.
(A) 17.76%
(C) 1.32%

more than the Cost Price of Shirt and the -

difference between Marked Price and
Selling Price of Shirt is ¥ 750, find the
- discount % of Shirt. |
(A) 20.04%
L) 19.76%

(B) 20.46%
(D) 1827%
L0

F H WA e S % i g
e wferra & 2 9 e

Cost Price of Suit is how much
percentage less than the Marked Price of

Suit is same, find out the approximate Jeans ?
d Price of Suit. (A) 25% 20%
Marke = (B) T2.215F T ~AB)
) T3.47 P) 73871 (©) 27% (D) 29%
80 ' e
mw‘g‘} T 2,8000 - o
HJ5
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31

way ¥ frem &

(i) B € (a) 3N

(i) Ba (b)) T

(iii) TaTE 1 (c) I

Gv) W@ b () "D

Match the following Maratha Chiefs
with respect to their regions :

(1) Sindhia (a) Indore

(i) Holkar  (b) Nagpur

(iii) Gaekwad . (c), Ujjain

(iv) Bhonsle (d) Barcrdat

(A) (0)-(b). (ii)-(a), (iii)-(d), (iv)-(c)
(B) (i)-(c), (ii)~(d), (iii)-(b), (iv)-(a)
(C) (i)-(d), (ii)-(a), (iii)-(b), (iv)-(c)
_B) (i)-(c), (ii)-(a), (iii)-(d), (iv)}-(b)

32, F=ferfee § & fra ¥ e @ afeansi
= TEe ar gu o e e an ¢
(A) TR () St
(C) #radt (D) TSI
At which of the following Buddhist sites
women were ordained into the Sangha
for the first time ?
(A) Sarnath (B) Vaishali
(C) Shravasti (D) Rajgir

33, ¥z % sifiw am % Frafafes 4 @ 9
79§ T ST 8 ? '
LA A5 (B) Iufieg
(C) AT (D) FTEm
The concluding part of the Veda is
known by which of the following names ?
(A) Vedanga (B) Upanishad
(C) Aranyaka (D) Brahmana

34. 9T q9E 9 fFrefafe § @ feg
WO A AR e geif) )
ATl 7
KA) @HEl (B) =
(C) %h (D) Hrera
Mughal Emperor Babyr had d
Rana Sanga and their afjeg at wﬁfﬂﬁln&d
the following places 7 e
(A) Khanua R)
(C) Chanderi {E’DJ Chausy

" ) Malwa

® 0 e,

frerferfiaa & @ &5 =1 1892 # gyl #1
feram e 7 o

(A) YT TR 37i=m, 1935

(B) <8 FHT 1945

(C) 1909 %1 aftag afafam

(D) WTd TR Ffufa, 1919 1
Which of the following was an extension

of the 1892 reforms ? 1
(A) The Government of India Act 1935

(B) The Wavell Plan 1945
(C) The Council Act of the 1909
(D) The Government of India Act 1919

36. 1920 H I WeW % Yawg faet H gECH
—  fagm A fpees g FATEer o T A ?
(A) HETeHT T
(B) TETELETS 8%
(©) T&w
(D) ERER ToeToIvTE Te
March in Pratapgarh

The first Kisan !
District of Uttar Pradesh in 1920 was

organised by whom 7
(A) Mahatma Gandhi
(B) Jawaharlal Nehru
(C) Motilal Nehru
~ (D) Sardar Vallabhbhai Patel

37. @MY H f@m swfivrg frer @ “gaed
— % @’ % AW § 9El S g,
LR fafafea # & g agaht €k o= g

ST T T 7 |
(A) fRecmeeR (B) Svod 3k

(C) W HER (D) Tz 3ER
Asirgarh fort located in Burhanpur is
lbmcirm éis “Dﬁan Ltga Darwazza” was
Ui which of th '
&f}dl.lsvan};hi Ahir Kin%? eI Wronng
hivdutta Ahir Ishwarsena Ahir
EC) Asa Ahir )

==

e L

(A) e Wiy
(C) T

Motilal

‘ was a famous
ﬁﬁ%ﬁéﬂ ot thedlndian National
\ nent. He belonged ¢ '
following regions of I%dia?? e

uring

(A) Madhya Pradesh (B

i i s g
™

T i 0 =4

HJs
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39, 202 ]_532 % 9E o 13 l‘]ﬂthig mﬁaﬁrﬁ f )
Zﬁ“ﬁi ol A we afires 263 @er R
s # & fsg g i R € 7

(A) 9T Wew (B) wlesh

A€) FM@Es (D) SeETe

There are 1319 reported mines in India
as. on 2021-22, out of these highest 263
mines are located in which of the
following states of India ?

(A) Madhya Pradesh(B) Karnataka

(C) Jharkhand (D) Chhattisgarh

40. Frfefaa 3 & e Jge o T v
g ? "
(A) 3sTE &g B (INA)
(B) TTeX Wit
(C) Tégeam amferee Feafser e
(D) e W Hishe gramEe
“Mandi Conspiracy” took place under the
leadership of which of the following ?
(A) Indian National Army
(B) Ghadar Party
(C) Hindustan

Association
(D) Abhinav Bharat Secret Society

Profafan # @ fem W T
rared % eIt 16 3T, 1946 1 “TeEE
Fars feag” w1 ¢

AA) Ffeerm i

(B) Wi T HITE

(C) wmee fég st (INA)

(D) = 9121

Who among the following had
celebrated “Direct Action Day™ on 16
August 1946 during the Indian National
Muovement ?

(A) The Muslim League

(B) The Indian National Congress  *

Socialist Republican

41.

43.

TR0 v

AT

45.

(C) The Indian National Army i

(D)) Swaraj Party

T,

Sy 7 fora & 7
(A) wFd A i (B) I
Ny TRl (D) -

A€ :
“L}:zkc Turkana” is the largest desert lake

in the world, it is situated in which of the
following countries of the world ?

A) United Arab Emirates ?BJ Turkey
5{23 Kenya D) Oman

e 3 4 e g 1936 H T&e AW
STl S 9 SehTal T STieReT fehaT T 4 7
(A) wTE sy S (B) FeH T
) R=ifea (D) .41, =ifem
The forest types of India were classified
for the first time in 1936 by whom
among the following ?

(A) Sir H.G. Champion

(B) Jadav Payeng

(C) Dietrich Brandis

(D) E.P. Stebbing

froqffigg Afedl ®1 S7 Tl % AEX T
gﬁfiﬁﬂﬁﬁlﬁ%ﬁﬁ"ﬁ%:

G) w4 (a) AfEW
(ii) Sawoft-4  (b) WEN |
(i) T (c) BEETE 1
(iv) gaea ¢ (d) IEH

Match the following rivers with respect
to the states in which the flow :

Kameng a) Odisha
i Maharashtra
¢) Chhattis garh

i n
e

i1) Baitarani
Girna

(i1

ivs Hasdeo d) Assam

A) ()-(d), (iD)-(c), (iiD)-(b), (iV)-(3

B) (i)-(b), (i a.iii-d,;v}-a
i)-(d), (ii a,iii-h.wg_-c

D) (i)-(b), (ii)-(c), (iii)-{c), (iV d)

3t fs Tt 7 & @ W
Har T =g WA Tﬁﬂ?ﬁﬁ
et % Rove i 2, W@ & R
Srqmiftre s 3 R @ 7

(©) |s of rock

i e ig famous for ifs pane
Chabimura is fam untain wall “‘Ljdéﬁ'

carvings on the stecp Mt
bank ugl river Gomatl, 18 located at ';-#
of the following sluh:'m ['% ?tl; [J!rsim ¢

o - t
gﬂ\) Sikkim }D] o hlaya

st

) Assam

e e A 2

HJ5

—ad
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‘e A" & A A oft s s e |

(A) (B) wgef

(©) (D) =ief

Which edition of Five-year plan of India
was also known as “Gadgil Yojana” 7
(A) Second (B) First

(C) Third (D} Fourth

47. 1981 %%Hahag{wﬂsmmﬁﬁg:
— g’ Trfior faeerE
mﬁ?ﬁﬁﬁﬁ@ﬂﬁeﬂ?

48.

The creation of National Bank for
Agriculture and Rural Development
(NABARD) was approved by the
Parliament through which Act of 1981 ?

(A) fFEm/Act 62 (B) srfrfm/Act 61
(C) FRfE/Act 63 (D) FRfE/Act 64

e & g i) b fera R
3 3 freen g SReTier foman T o ?
(A) o S gt (B) T afld

(C) ez & (D) Fufven diufd
The idea of nationwide GST in India was
roposed by whom among the following '?_

FA}FBThe Raja Chelliah Committee
(B) The Rekhi Commuttee»

(C) The Kelkar Task Force

(D) The Narsimham Committee

ura #1 9 wid F =707 1 (1970-1980
# favg @@ wEFA %k HEH
Frfeafrza # A fora g0 IuER # fog T

foprz 7y UEE AN WAET q9 (¥
W}‘ﬁﬁﬁﬁﬁﬂﬁﬁﬁﬁz’mﬂﬂIM?

(A) i da (@ i)

Phase | (1970-1980) of the milk
revolution of India_was financed by the
sale of skimmed milk powder and butter
oil gified by which of the following
through the World Food Programme 9
::ﬂf -R:E Eiﬂ'ﬁpﬂﬁn Ll{?iun?ﬂﬁan EEC)

e Unite i 'hi e
(¢, Fund (UNICE) e Sakher's
£ ( FE &-}“’d and Agriculture Organisation

(D) “The World Health Orpanisation (WHO)

50.

]
i

[

|
i
i
i
i

|
i
|

51.

52.

83

ramirivhind i1 v A E

——
)

WTd o Tare e H IgEied

B Far T o | 3gEEd wHE W (319

pareT) # Fiid o et 8 730 41 |

(A) 26 7=, 195048) 28 i, 1950

(C) 25wafl, 1950 (D) 28 wAdi], 1948

The Supreme CDEH of India %?2

inaugurated on 1he 1

inauguratim had taken place 1 t];tlt:
Chamber of Princes In the Parliame

Buildin {Nownld?-
A) 26" January, 1950
By 28" January, 1950
C) 25% January, 1950
D) 28" January, 1948

& - |

gaTEdt TS S=EaE]
mﬁqg@rwmﬂ%%aﬁiﬁﬁmﬁm
T ?

(A) WICI (EJ.

AC) AT (D) E—

Rajasthan was the first state : o
Panchayati Raj System was implemen e
4 11959.' In which of the

in the year ;
of Rajasthan it was

following districts

implemented first ?
(A) Kota (B) Jodhpur

(C) Nagaur (D) Siroh1

F5t % TR 3 o = & A fohE
&= = Tl fepaT T T 7

(A) &  +(B) FAUSH
(C) ¥gel s FATH 3 _(D)i_%m*rﬁa;
Which bank was not nationalised durin
the Phase I of the Nationalisation of Banks

A) Dena Bank

B) Canara Bank

C) Central Bank of India
D) Vijaya Bank

fFreafafea § @ =9 o fgva e =)
foram afteg @ srem e ® 7

(A) TSEI 1 ATHTH

(B) 798 9919

(C) &A1 o T

D) waifiri & wigw

Which of the followi fi

distinguishes the Rajya S 1];13 g

Vidhan Parishas 7 jya Sabha from the
Nnmmatiun of members

B% Indirect election

Tenure of membership
Power of impeachment

9

-

Ll Lt
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........ S 4ot R L g i SR Y
aﬁfrﬁ-ﬁﬁﬁg%; """""""""" ; IR < -
firg |1 Ug Heifen | ; 3 e 3 B e A e
oo A & ! 58 AT HET
(A)aﬁgwngg g7 .3 %ﬁﬂaﬂ?m%v
(©) ﬂﬁﬁrﬁ;ﬂ% AB) R &1 e (A) Wﬁﬂﬂ#i AB) =
Which of (D) R s (C) 9 (D) T
e the following ir o Which of the following is the most rapid]
medicine for treat; frees provide dwindling resource int e whole ok T
(A atmg n]a[ana ? F h B} F !
) Bamboo tree ) A) Suniig t f orests
(C) Eucal (B) Cinchona tree {C% Air D) Water
Yptus tree (D) Ginkgo tree 59, a4 wea, o 3 feg 1 atem ai:ﬁg
WS wmsmads 20§ ot | afe T 3, T o e
(A) = ¥ o0t grar seprer S ma%ﬁﬂ%,#f?aﬂmﬁmﬁ
(B) wreet : a7
R YT T AT
C) A% - Four years ago, the average age of Dev
© STERTT =T YT and Dinesh was 20 years. If today
(D) U =Y S g T H TRETu average age of Dev, Dinesh and Chintan
What is the reason behind the twinkling X Ef ;il;.s "—?’fh&t will be age of Chintan
of stars ? AA) 3499 /years (B) 32 a9/ years
: : ¥
_{A) Scattering of light by dust particles. (C) 36 o /years (D) 38 [ years
(B) Internal reflection of light by clouds* ! g, Prefafa gufieRLoT 1 T #=0 22
ic refraction of star lighte What will be the value of followi i
owing equation ?

(C) Atmospher

(D) Dispersion of light by water drgpléts. 24x0.72x45 ﬁ:
. ' . X :
56. Wqﬁﬂﬂﬁnﬁ%ﬁﬁrﬁ%@ frga 0.18% 0.06 x 0.9 :
Erfefad o & Rpu 3w % HREH ¥ (A)1800 (B)963 (€)2400 (D)2700
gt & : 61. Frfeifga & & 7 @1 11 % & I fw
(A) T AB) I Shd w3 3 i 3 w9 § ek e Hl @ 7
(C) FE (D) 3W@T. wo?fi{-’ﬂﬁ following doesn’t express the
The Directive Principles of State Policy (A) 143+ L terms of sum of odd numbers ?
adopted in the Indian Constitution B) 1+3+5+?+13+1?+23+25+2T
argm the Constitution of which of the ,«ECJ 145 +?+;I?TH;E-S|-1?+1?+19+21!
% countri | +17+214237 W
rollowing COMNtrieS £ oy 1 iand (D) 3+7+9+11+13+15+
Kraine (B)! Irciand ., 62. 3+17+19+27
{%} s (D) US.A. - mmaﬁ T arfeETEe
: afsha & |
. 5 fa wIHA 3 ciewE | (A) Trerfim
. R It g T e % | ) SO B) Ao ~
! @Wﬁtﬁm%? iS.a process of (D) sif&e
:ITHTE"EIETW . 2019 %rﬁ?f%]uminigmf?mmg a thick oxide
; nodiz; J
Eg;’ J g0t &M .gg}g 8. 5 Catholéi';ﬁ_lg E?ﬁ gﬂlvranizatjgn
4C) lﬂgwﬂsﬂm 2019 ~ amm H1 W maﬁgﬁstmgﬁa ;
{D)‘] nendment of the Indian (A) ﬁﬁﬁﬁ?ﬁa’lﬁ%i
W‘I‘ncl}w tjon has ,sat:mhshm::}i1 I‘lﬂlﬂﬁliﬂléfjn of (B) (ﬁtm‘fqa“rfhu;
Eﬂn?ﬁ-lndiﬂﬂs e bl#e;? i e (C) 3. (idemsdter)
ANg, egislative AsBE A ct, 2019 (D) 19 (i
aﬂd lﬂglsl gndl’ﬂﬂm ﬁt{ 2".'”9 (]iye {a%r][} }
Eﬁ; 'ﬂUI: ﬁﬁﬁﬂxﬂ: Act, 2019 t?{jp“"-i?:ieve?f the process i hi
¥ ! ¢ ¥ L o 1 n i
E]Lj’; ::}'}"“ J.l!hjI"Ii:.tr]l‘.lil"l1L:l1l Act, 2009 (}{; E;EI?HFJ{‘DL?:) Ig/;)ul?g ﬁ'ﬂg& which
"""""""""""""""""""""""""" r A Sl ; : e l' ' '
" o i () Buddieaion”
HJ5 o e il e e
_ - 'M 2o .-)':"1[:, a
- B
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R RSt oo rl s
w0 C o
oh V020 HEC O ) 5°¢ e.-/mﬁ 5 7]
64. Hﬁaﬁrﬁ‘m / Simplify : SR = s e e M
19-2 x 3% x (5 23/ (3-H x 54 I ' |dcn!|i_y a correct spelling from the
(A) 3510 357 ’ following :
I~ = e : i ~—1B) 3134510 : (A) (‘oonoisur { f.:OﬂE”’._ﬁ-‘s'Uf'
- ;l'crﬁ:{ ;{ 5_ U-_“ 3-13/515 E (C) Conoissur (D) (-'IJ_HHE!S‘?EPJ
- 3*:# F ' ¥ wlten o 1200 % e # 72.  Which of the following jg not an
' m S:‘-;: Eﬁ.{ Oieq ‘Tﬂfﬂ] ﬁ 800 a; ) Hﬂaﬂrﬁm of ° EEIET .
Tead 7% & Y ':"'ﬂ“x b i oderate
7R gfomm S ﬂ“ﬁ&naﬁ "é'ﬁ HT:?W f E g) Conservative
(%) | % o Hﬂﬂ. N IGEIGE (C) Tradltlmnaf
Dﬂrshsnﬂm&[ﬁﬁm—ed' SF' iuﬁmﬁp Q%J%; (D) Fanatic
. o 0 . g
exam ’:}-ﬂ}'l a llgﬂxi'fﬁﬁm rtlimrkgegfm{lnEaﬂ 2. Glve meaning aiee Bollgnie =
Ia;ldk- 0% in Main exam with a maximum & T of straw’
thar s of 800. If the result is based on (A) influential
e | aEc}mbu;v;ci 9, of the both exams, the (B) a puppet ,
,:L-»Z - é?.?d Vois: (C) having 1o integrity
; ok (B) 73% (C)63% (D) 69% (D) struggling in vain
6. Wﬁﬁﬂﬂ%ﬁ e 3N HIA T AT i | Read the following paragraph and answer the
_\Wﬁ"ﬂ 7 following questions (Q. ;?4 and 75) ,
}&} TS-T% 9 AR A T, Bie =l The self- ortrait iS l-mﬂlin’_illE‘f". Painters
& st fe@ i | ?hnd elIJhﬂmgmp ers. haw:T ATways used
T g e ey s
© S E{Tsﬁ;mﬁ“ﬁ 3= %01 & § in his ot her pocket. This is because most cell
H ﬁﬂiﬁ e | phones have -ameras on them. The fact that
(D) T FE 24 aTen dM gadl g # § most people have cell phone cameras wi
?ﬁm =5 B 9T | them all the tume has led to the rise of the
7. Fre @ FA G A AT ? ﬁtﬁ iifelﬁ; is a self-portrait usually taken
fA;mﬁﬁaﬁaﬂnqﬁmﬂaga Si o -
p—— 2 | il Ut:l-:‘: mgr}[llcmrcs]are usduaII}f taken on a
o 3] T~ , many peop’e tend to share these
,—{{’?i i $ ‘4@'53'5“‘?7&43% phndti}graphs with g'lands and even strangers
i ZEAC T £ ﬂi] erent social nghvnrking websites. Some
() @ AT A AT T ] of the popular social TetworEnl: b latforme
' ) ATy g geuple use to share selfies include Instagram
5. ‘EAT ﬁﬂﬂﬁiﬁﬁﬂﬁﬁaﬂqﬁ b Senﬁ_l%igﬂhanihﬁcghﬂ'gk. People usually take
(p) TEIELTETC en they are engaged in normal day-
() it to-day activities. They take ofies of tha}f
. : i commutes to work . SlE
() warrar 3 B attatfe o school. People take
i) AT AR T . emselves eating. Other people take
co. dmt’, wm Mg | Whom the show what they are wearing Of
a8 o T L y are hanging out with.
- ﬁ”“mm‘mﬂmﬁmg? 74. Is self-portrai
_4A) wHEd (B -portrait a new thin 2
. ) il (A) Yes. It :
(C) F‘mﬁ'ﬁ" (D) 'ﬂ&ﬂ‘ll‘-':l ) No 11! hI:qaere'E&nt P_herlﬂmenon_
70. f= A i if o1 1A A1 W A R Y (C) Not spe::}ﬁe}smd sings g
() wifed = MG (D) Can'tsay.
75.  Which soci
h social networking platform i
mentioned in the passagg ‘;F e

(B) wadig = waf + 82
—(C) FEHE = 44 + e
(D) W@ = 4 + 361

T S e ey

(B) Snapchat

(A) Instagram
(D) Facebook

_LC) Twitter

HJ5


https://t.me/uppcs1

e i P A 0 i IR S R RS SRR 1 raay

o o

5 ?ﬁ‘ m.._--._.u--ﬁ.-éé;.._..W,::;-E;;..., _I,.I:l.;i%;;; ;ﬁ,;ﬁ ; ﬂﬂ. "; W ﬁ‘ a‘.’r a:.'m P‘ 3ﬁ1’ B ﬁq T[[I' % ] Er
‘E:“H g3 T Fm L%,_iﬁmﬂﬂﬂﬂjﬁl o A Al T R A EHA & A
/N Emwwﬂ?%agiﬁ%m.gﬁlmmh e R R E T R
o e T R | W@, i W Ry wait @ 7 2 U oA ga YA B T B Ty
‘ (A)FF  B)ush (O)m (D) A9y, ¥ @mﬁ A g8 A Fol "
Barkha and Chandresh are s1lms. # 1 g ﬁ‘_ﬁ
Eﬁ?ﬁ:} Tﬁ two L;jltilldl'e!m nlnd he iis{:‘imt of Prerferfiga § & @I A1 I fermpe 5 o5
Hansa .h,as ';:mllby ;11:-61:3:1_ ‘E‘Ea(:}drc;tl;-s?é M%ﬁa%mﬁﬂﬁﬁ“ﬁm% |
not son-in-law of Suresh. How Barkha is A SEd e ﬁaﬁ?,ﬁ%‘ #WWW;
related to Suresh ? + foru s e | Eé% :
(A) Daughter B} Wife ) gars a1 ?{5[ et | < T 1
_AC) Grand Daughter (D) Daughter-in-law B: o e
77. Fefofes v § 9 w9 ok I8 91 9K i W%iaﬂ'(aiﬁ‘ﬂ
fssd 1,10, 1 ok v Ry e # | sl Ry e (A4) ﬁ,:;?ﬂ A
FYA F T T L, 9 & THER W I T .
T TSR & N A i Al o) Sue -
. HUT A B & FAUE |
@@ Eﬁqwmﬁwm@ﬁmﬁwm%} "g% ;‘E%ﬁﬁ =7 A 3 B HW%TF!F
© FE : FO Tl He & | A A FTOTFH IATE E |
= TR I g In this question, two statements A and B
&0 e : . g oA ge € 1 are given. These statements may be either
1. T emiedl Se 8 I independent causes or may be effects of
1L ﬁ?ﬁaiﬂﬂ'ﬂ%ﬁ?tﬂ i@dﬁﬁdmt cause or a cﬂm E%aétﬁe. ft}tﬁe
statements ma o1 e
Iv. quﬁ% luf gther stahemenf.n R&ﬂd}iaoﬂl tﬁe statements

(A) eet IT SFHT T 2 |

(B) Fael I FTEV Fl 8 |

(C) e 111 ST T8 |
AD) Fa IV T FAE | _

In this question, three statements are Fw-m

follow four conclusions numbered I, 1I,
Il and IV. You have to take the given
statements to be true even if they seem to be
at variance with commonly known facts and
then decide which of the given conclusions
logically follows from the given statements
disregarding commonly known facts.
Statements : Some trains are roads. No road

is jungle. All flowers are jungles. .

Conclusions : 1. Some trains are flowers.
1I. Some trains are jungles.
[11. Some flowers are trains.
IV. No road is flower.

and decide which of the following answer

choice correctly depicts the relationship

between these two statements.

A: Budgetary allocation for building &
better rai network, e.g., constructing
new railway lines, has increased. .

B : There has been a substantial drop In
the number of passengers opting for
air travel.

(A) If statement B is the cause and
statement A is its effect.

(B) If statement A is the cause and

statement B 1s its effect.

(C) If both the statements A and B aré
independent causes.

(D) If both the statements A and B are
effects of some common cause.

II follows. (B)Only I follows. 2
%} 831[; 11 ?ﬂ;‘i’;':’us. Enﬁqu IV follows. 81. Wity ¥ % forw uget vt suw FHIET
7. o ru et # @ foram wen yma hife ¥ (drodeht) w1 3qEmen s % Frerferaa 3
Find the odd number from given options : ﬂﬁmwmm ¥ fpar man 8 7
wA)4025 (B) 72]1 &)500] (D)G60%S (A) TG (B) 4w
79, e, 2001 1 fope i i gurar a1 7 AC) e D) 7
On what dates of April, 2001 did The First Permanent Aadhaar Enrolment
chnﬁsda%fallg 4 Centre (PAEC) for Indian Army has
A) 4, 15, 185, 250 been inaugurated in which of the
B l"‘d. B 15%, 22", 290 following States/UTs of India ?
s e hlﬁmi 23 BSU“ Eﬁh{ Chandigarh fB Mumbai ﬁ
3’ 1ot 1 7h. 241 C) Ladakh D) New Delhi
—_— 12 ®
3tus >
.
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| g2, “SaNGRAH - Ugl & fore giftra it : | 85 & 2023 % ferm 751 s T1g WA A

| afte® Sl s sty Beger gfiamm | ofty &1 =477 ar |

| & 76 <9 & @ frams wiitssw @1 e | () e fare 3 o, 2y |
AT ?ﬁﬁﬁ 2 | SaNGRAH + e fid] '
it el o s o8 wida wmnar d ot |

i
|
i (B) fagam &1 T
T B mgﬁ,_-_ﬁiﬁgﬂﬁﬁmmﬁ%
: (D) mﬂaﬁ'éhmwﬂﬂmﬁmﬁm|

“ﬁ*ﬁEHIETﬁ?ﬁIWWI
(C) e g Tl g:-raff%"-@qﬁ!ﬁaq

foqu ufgerd=renrtt AT |
IqeTeY T8I B 7 - ,
T Tt G Name the theme of 78t United Nations
o o General Assembly for year 2023.
for Sustainable

(A) Cﬂ—ﬂpcratiws

(C) 3f&a - (D) Ay "
“SeNGRAH — Safe food for Nations : ® Deve g (rust and reigniting

Global ~food Regulatory Authorities global solidarity- ,
(C) A Watershed moment: transformative

Handbook™ is a comprehensive database of 1
Food Regulatory Authorities from 76 solutions to interlocking challenges.
(D) Building resilience through hopes.

countries worldwide. SaNGRAH is available
not only in Hindi and English but also in six i) 2020 i Al
Indian languages. It is not available in which 86 maﬁl%maiﬁf ﬂ:izﬁm }ﬁﬁ fpu T =
of the following languages o i S 8 ST 1 8 7
(A) Gujarati (B) Kannada N amm (B) IR
(C) Oriya (D) Marathi (C) v e (D) STd HIER
83, e i ¥ e Sl Wﬁmﬁ' What is the tagline for Nav Bharat
5 et 3§ AR A R Sakeharata Karyakram launched during
m@wﬁm’%ﬁ%-? 2 ~ the celebration of 3 anniversary Of
(A) TRER ST A e National Education Policy (NEP) 2020 ?
%«(ﬁ} &l R (A) Har Jan Sakshar
(C) T TR (B) Jan Jan Sakshar
(D) & HAEE , . i C) Jan Sakshar =
Which of the following Union Ministry ED:)' Bharat Sakshar =
has recently jaunched the “Scheme far .
Expansion and Modemization of Fire | g7, frfiiaa i & fhe gret 2 3 BSA faw
Services in the States” ? _ Qi 3 =l 7e Sl 8 7
{ Family and Health Affairs § (A) W nfeer =S (qﬁﬂﬁﬂ}

(A) Ministry O
(B) Ministry of Urban Development Bk 9

Ministry of Defence )
?E{; Mizisuwy nﬂizmeiﬂuﬁairs (B) Wil wfeet e (gfbariera)
g e i ) v % | ) g e (SRR P o

84,

—_— 3 .
mmm‘wwwww (D) Wty g wse (gfeantia) peats
TR %51 0 ) v et foen w7 Whm S :
(A)621  (B) 791 ;{:Jsaf (D) 441 o among the following has recently
Which edition of Rashtriya Poshan g;:s} :isl?? gold medal at the IBSA World
Maah has been proposed by Minisiry of (A) Indian Women’s Blind Cricket Team~

Women and Child in order to foster (B) Indian Women's Blind Football Team
n:trﬂuljunal ur:d::;.:sland:figtﬁuruss India? | (C) Indian Men’s Blind Cricket Team ~
(A)6 B) 7" (C)5 (Dy4h - (D) Indian Men’s Blind Football Team

HJS
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88. o @ H 26 :ﬁg A | =
ﬁﬁm@ﬁﬁaﬂﬁ;ﬁ;ﬂ%sﬁm& 9. Wﬁmﬁﬂﬁﬁﬁmwﬁw
?'mé‘ T T % R s foyerfefiaa # @ o fog s ST 2 7

m - r
(g et s ) | 07 @
F frm 20 & gafrd 2 ¢ " (C) 9 3T (D) 14 fe@a
(A) fisTen : The National Energy Conservation Day
(B) & 3 is celebrated on which of the followin
i : 2
(C) W a day .in India every year ?
(D) Hga T4 TTEHT ' (A) T"March  «B) 14" July
g]iLn' Skea has been elected for IPCC () ¥ ilgast {D)”ldﬂ‘ Egoming
terguvmﬂnenml Panel on Clh ; 92 m ﬁ L Eﬁ -
Change) Chair for. the seventh assessnnr'llaa'ltte - 2 - s
cycle on 26 July, 2023 at the 59% Session of TR (TATHTETsE) errg aEd T
ﬁc xxiclf E}gt]; ;IEN&;mhi, Khaya, 546 bélonas gﬁﬁ T Ao (e % aga e
ch of the following countri Tqudieet & I Cr CIREEIC]
(A) United Kingdomg 5 ﬁ;lafm.-q N ¥
AB) Switzerland T h
(C) Singap i Tl}e National Mission for Sustaining the
. (D) United States of America glisné?i?ii:}d]amgfsﬁm (W) & e
0, : : er the Nati i
T @ 8, 0dE s 3 Ser A on Climate Change E(;I?e\n;lcﬂﬂmn e
=2 & R h ng NAPCC). In total
1T yEtHar favig sreEmEn | OW many missions
vaiger fiofr & R W\, S 22 s N‘*‘P}EC ? S
i i & Freaenen # & e 2w A ks (B) 5
o § A ST A TR S AR 7 = ). 8
A) ST | 93. '
(A) T (B) WRd 3. Wi fome @EE (Sc) H T
(C) »E  AD) 1L 1909 # #t w1t SiEm, YRE 'R 3R
Recently, the European Commission Tr=fafen 4 @ g sumefy & <9
-adopted its adequacy decision for the et Tt g <6 T
Data Privacy Framework. On the basis of TR : e
the adequacy decision, personal data can &) TR
flow freely from the EU to companies of AB) & Yo Iwm
which of the following countries ? (C) Saresht
(A) Germany (B) India 2 FHETA 2T
(C) France (D) US.A. (D) fermat afee
90, & # # HTQF(L'!W Y frvg @ Fiw ;l;hc Indial} Institute of Scienc
— (WMC 2023) ¥ ToFa depor A Forarh a8 eutsablished in_1909' b e
partnership b Y @ visionary
#1287 Family, tﬁe Eﬂe““ the Mysore Royal
(5)25'3 (B) 26&_ _[,C)Eﬁ (D) IR which of the fm]nﬂ'_nme:m of India and
Recently, Australia has hosted which (A) Kasturbhai W in Industrialist ?
edition of ‘World Mining Congress (B) T.V A
WM () (©) Jeoct Nuserom
(a)25" (B) : b (D)2gh msetji Nusserwanji
"‘.‘"';""'“" --------------- I m{ Dinshaw Petit o %
HI5 14 ) TR
%)
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-
wan

) e 3 e 3 Q Fow | oop, Pt § & fr sindd d
=

Tra g wew 3 R R 7 | |
O i A %ﬁmﬁiﬁwmmﬁ% ?
“Pangi Valley™ is sii}z:uud t whicl S . o (a2
dhe following States/UTs of India ? of goeFaTe Tl ATATEATH)
(A) Uttarakhand L : ) mﬁtfghr Hfl}ﬂ TTa 32'{':?'
AB) Himachal Pradesh i Hiersy TR {
(C) Jammu and Kashmir y ; )
5 (D) Ladak;, | (C) et Ay Foll TSl (Serrer
95. SiereTal = l!a‘fl"ﬁ%qq'sﬁqﬁ'{:ﬁ
ﬁﬂﬁﬁﬁﬁﬁ%ﬁi < ‘ o (D) @ AR HE : :
238 (4 o qrEiftd § 7 ! St G (B U o=t
© e (B) ﬁ - FTTE)
The Pat William (D) _ _ Which of the following international
e ibug e _St;ndGmund situated in ﬁrgﬁmsatmns is  having  their
sociated with whi eadquarters .
following sports ? Whicn: ol The Kiﬂg?i(}m 2 s at London, United
(A) Golf - (A) World  Intellectual
(C) Football E’S{ E;f;.kﬁy Srgusinaiion > Fropery
96. womreEnn R apwEmwm  WRd & Eg} :Emmat:mnal Maritime Organisation
P 3 o o e hE e ek e
(A) EE{T sTERe ®) | (D) Food and Agricultural Organisation
4C) TETE Dﬂga“ _ 99, Pr=fifEa § & # @ ®HERE 9 6
: (D) ey LELIETE
Satmalia Deer Sanctuary is located in which .
of the following States/UTs of India ? : (A) Frevter (B) 3T
Eg% Fﬁi&;ﬂgm Haveli (C) HHHt (D) &R
(C) Maharashira Which of the following is the capital city
(D) Tamil Nadu Ei;he Union of Comoros ?
: Nicosia A
o7, Prefafaa i & 1 & ARG 5 TgAA ® _{C) Moroni g}} H“"“‘“"’
e % ferg fratas #@eet o e T i
s ® 7 100. Fr=forfea & feer <Fream - sIf-
(A) TirE % it aee ﬁjﬁ_rmﬁtwﬁ_mﬁm&a
(B) m%ﬁﬁﬁw Wmﬂﬁﬂ"%'gﬁ?%@%ﬂ
(C}gﬁ%rﬁafrﬁmw%ﬁaﬁﬁ iRy (@) ?
o FIfACH
ich one © e 10 mn oes not y o among the fi ‘ p
constitute the electoral college for book Hameg “;inﬁi:OWmE had \a.rnttet.l a
electing the President of India ? Padeis o B a — the oldest Indian
(A) Elected members D:_: ku!( Sabha Semantics” ? tymology, Philology and
(B) Elected members of Rajya Sabha — '"__
(C) Elected mer}’lbar:; 012 :.he, Legislative E;i’ ;’1311}31'5511 Patanjali
ﬁsggmb]}r of each s : e ) alidasa
(D) Elected members of the Legislative (C) Sri Yaskacarya

(D) Kalhana

ke b

Council

v i et s 5554

15
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